2x 9+ 1 = 19 2% |5 |+ 1 = 11
(19—1)+2= 9 (11—1)+2= 5
19 +2=| 9 | +[1 11 +2=/5] 1
2% 8 |+ 1 = 17 2x 4+ 1= 9
17—1)+2= 9 9—1)+2=| 4

17 +2= 9 | +[1 9 +2=/4| 21
2x 7|+ 1 = 15 +1= 7
(15—1)+2= 7 (7 +9=] 3
15 +2=| 7| 201 7 +2= 3| sl
2% 6|+ 1 = 13 +1= 5
(13—1)+2=| 6 (5 9= 2

3 —2=6 %@ 5 +—2=| 2 gnw




3x |9 |+ 1 28 3x |3+ 2 = 11
(28—1)+-3=9 (11—-2)~3= 3
28 +3= 9| a1 11 +38= 3| 22
3x 7+ = 22 3x 3+ = 10
(22—1)+3= 7 (10—1)+3= 3
22 +3= 7 w1 10 +3=3 | 41
3x 6|+ 1 19 +!= 7
(19—1)+3= 6 (7 +3=| 2
19 +3=6 | 21 7 +8= 2| 5]
3x|4 |+ = 13 +E= 8
(13—1)+3= 4 (8 +3=| 2
18 +3=4 | 4]l 8 —3= 2 | 402
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ax[ J+[] = 28 3x +.D = 16
, (16— )+3=
(28— )+3= P
28 +3=| | .|| ' v
3x| |+ || = 13
— 2"’
o +,D > (a3-[)=ra=
(25— )+3= 18 28] | ml
25 +3=| | ]| v
x| |+ D = 10
= 99
o +,D 4 10 [)s3=
22 +38= | .| w
3 X + | = 7
= 19
19—{)+3= 7 +3=[_] o[l
19 +-3= %@D : v




4x9 |+ 1 = 87 4x 2 1+ 2 = 10
(37—[1)+4=] 9 (10—2)+4= 2
37 +4=/9 |+ 1 10 ~4= 2| 4,2
4% |8+ 1 = 33 4|12+ 1= 9
(33—|1) 4= 8 9—1)+4=] 2
33 +4= 8| s 1 9 +4=/2 | 41
A4x|7T +1 = 29 41|+ 8= 7
(29—1)+4= 7 (7—3)+4=1
29 +4=T7 | 411 7 +4=1| 3
4x 3+ = 13 4x 1+1 = 5
(13—1)+4=| 3 G—1)+4=] 1
18 +4=| 3 | +[1 5 +4=1 21
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x| |+ || = 64 x| |+]|] =

(64— )+7= (36— )=—7=

64 ~7= | || 36 7= .
x| |+ || = 57 x| |+ ] = 29
(57— 7= (29— )=7=

57 7= | 40 29 +7= | 40|
x| |+ || = 50 Tx |+ | = 22
(50— )+—7= (22— )+7=

50 ~7= | 4| 22 +7=| | 40 |
x| |+ || = 43 x|+ || = 15
(43— )+7= (15— )+ 7=

15 —7=

N
o
|
~J
|
P
[ ]

[ ]
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x| |+ ] = 69 x| |+ || = 41
(69— )=—7= 41— )+7=
69 ~7= | 4] 41 +7= | 50|
x| |+ || = 62 x|+ || = 34
(62— )=-7= (34— )=7=
62 +7= | s | 34 +7= | 4 |
x| |+ || = 55 x| |+ || = 27
(55— )+—7= 27— )+=7=
55 7= | 4| 27 +7= | 40|
Tx| |+ D = 48 Tx| |+ D = 20
(48— )+7= (20— )+ 7=
48 7= | 4| | 20 7= | 4




